

## Bid #OPN2128651B1 - Ferric Chloride

Creation Date **Jul 18, 2024**

End Date **Aug 23, 2024 2:00:00 PM EDT**

Start Date **Aug 5, 2024 12:49:04 PM EDT**

Awarded Date **Not Yet Awarded**

OPN2128651B1--01-01 Year 1, Ferric Chloride Delivery, District 1					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
PVS Technologies	First Offer - \$2.14	100000 / pound	\$214,000.00	Y	Y
<b>Product Code:</b> <b>Agency Notes:</b>		<b>Supplier Product Code:</b> <b>Supplier Notes:</b> The unit price entered is \$2.14 per Pound of Iron. The corresponding price Per Wet Pound is \$0.28			

OPN2128651B1--01-02 Year 1, Ferric Chloride Delivery, District 2					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
PVS Technologies	First Offer - \$2.14				Y
<b>Product Code:</b> <b>Agency Notes:</b>		<b>Supplier Product Code:</b> <b>Supplier Notes:</b> The unit price entered is \$2.14 per Pound of Iron. The corresponding price Per Wet Pound is \$0.28			

--	--

OPN2128651B1--01-03 Year 2, Ferric Chloride Delivery, District 1					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
PVS Technologies	First Offer - \$2.20	100000 / pound	\$220,000.00	Y	Y
<b>Product Code:</b> <b>Agency Notes:</b>		<b>Supplier Product Code:</b> <b>Supplier Notes:</b> The unit price entered is \$2.20 per Pound of Iron. The corresponding price per Wet Pound is \$0.29			

OPN2128651B1--01-04 Year 2, Ferric Chloride Delivery, District 2					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
PVS Technologies	First Offer - \$2.20				Y
<b>Product Code:</b> <b>Agency Notes:</b>		<b>Supplier Product Code:</b> <b>Supplier Notes:</b> The unit price entered is \$2.20 per Pound of Iron. The corresponding price per Wet Pound is \$0.29			

	<p>The unit price entered is \$2.20 per Pound of Iron. The corresponding price per Wet Pound is</p>
--	---

OPN2128651B1--01-05 Year 3, Ferric Chloride Delivery, District 1					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
PVS Technologies	First Offer - \$2.26	100000 / pound	\$226,000.00	Y	Y
<b>Product Code:</b> <b>Agency Notes:</b>		<b>Supplier Product Code:</b> <b>Supplier Notes:</b> The unit price entered is \$2.26 per Pound of Iron. The corresponding price per Wet Pound is \$0.30			

OPN2128651B1--01-06 Year 3, Ferric Chloride Delivery, District 2					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
PVS Technologies	First Offer - \$2.26				Y
<b>Product Code:</b> <b>Agency Notes:</b>		<b>Supplier Product Code:</b> <b>Supplier Notes:</b> The unit price entered is \$2.26 per Pound of Iron. The corresponding price per Wet Pound is \$0.30			

--	--

OPN2128651B1--01-07 Year 4, Ferric Chloride Delivery, District 1					
	Unit Price		Total Price	Attch.	Docs
	-			Y	Y
<b>Product Code:</b> <b>Agency Notes:</b>		<b>Supplier Product Code:</b> <b>Supplier Notes:</b> The unit price entered is per \$2.33 Pound of Iron. The corresponding price per Wet Pound is \$0.31			

OPN2128651B1--01-08 Year 4, Ferric Chloride Delivery, District 2					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
PVS Technologies	First Offer - \$2.33	45000 / pound	\$104,850.00	Y	Y
<b>Product Code:</b> <b>Agency Notes:</b>		<b>Supplier Product Code:</b> <b>Supplier Notes:</b> The unit price entered is per \$2.33 Pound of Iron. The corresponding price per Wet Pound is \$0.31			

OPN2128651B1--01-09 Year 5, Ferric Chloride Delivery, District 1					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
PVS Technologies	First Offer - \$2.40				Y
<b>Product Code:</b> <b>Agency Notes:</b>		<b>Supplier Product Code:</b> <b>Supplier Notes:</b> The unit price entered is \$2.40 per Pound of Iron. The corresponding price per Wet Pound is \$0.32			

--	--

OPN2128651B1--01-10 Year 5, Ferric Chloride Delivery, District 2					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
PVS Technologies	First Offer - \$2.40	45000 / pound	\$108,000.00	Y	Y
<b>Product Code:</b> <b>Agency Notes:</b>		<b>Supplier Product Code:</b> <b>Supplier Notes:</b> The unit price entered is \$2.40 per Pound of Iron. The corresponding price per Wet Pound is \$0.32			

**Supplier Totals**

<b>f PVS Technologies</b>		<b>\$1,642,850.00 (10/10 items)</b>	
Bid Contact <b>Shauna Barthel</b> <b>techbids@pvschemicals.com</b> <b>Ph 313-921-1200</b>		Address <b>10900 Harper Avenue</b> <b>Detroit, MI 48213</b>	
<b>Agency Notes:</b>	<b>Supplier Notes:</b>	<b>Head Attch:</b>	
			

\*\*

## PVS Technologies

Bid Contact **Shauna Barthel**  
**techbids@pvschemicals.com**  
**Ph 313-921-1200**

Address **10900 Harper Avenue**  
**Detroit, MI 48213**

Item #	Line Item	Notes	Unit Price	Qty/Unit	Attch.	Docs
OPN2128651B1--01-01	Year 1, Ferric Chloride Delivery, District 1	<p><b>Supplier Product Code:</b></p> <p><b>Supplier Notes:</b> The unit price entered is \$2.14 per Pound of Iron. The corresponding price Per Wet Pound is \$0.28</p>	<b>First Offer - \$2.14</b>	100000 / pound	<b>\$214,000.00</b>	Y Y
OPN2128651B1--01-02	Year 1, Ferric Chloride Delivery, District 2	<p><b>Supplier Product Code:</b></p> <p><b>Supplier Notes:</b> The unit price entered is \$2.14 per Pound of Iron. The corresponding price Per Wet Pound is \$0.28</p>	<b>First Offer - \$2.14</b>	45000 / pound	<b>\$96,300.00</b>	Y Y

---

OPN2128651B1--01-03	Year 2, Ferric Chloride Delivery, District 1	<b>Supplier Product Code:</b>  <b>Supplier Notes:</b> The unit price entered is \$2.20 per Pound of Iron. The corresponding price per Wet Pound is \$0.29	<b>First Offer - \$2.20</b>	100000 / pound	<b>\$220,000.00</b>	<b>Y</b>	<b>Y</b>
---------------------	--	---	-----------------------------	----------------	---------------------	----------	----------

---

OPN2128651B1--01-04	Year 2, Ferric Chloride Delivery, District 2	<b>Supplier Product Code:</b>  <b>Supplier Notes:</b> The unit price entered is \$2.20 per Pound of Iron. The corresponding price per Wet Pound is \$0.29	<b>First Offer - \$2.20</b>	45000 / pound	<b>\$99,000.00</b>	<b>Y</b>	<b>Y</b>
---------------------	--	---	-----------------------------	---------------	--------------------	----------	----------

The unit price entered is \$2.20 per Pound of Iron.  
The corresponding price per Wet Pound is

---

OPN2128651B1--01-05	Year 3, Ferric Chloride Delivery, District 1	<b>Supplier Product Code:</b>  <b>Supplier Notes:</b> The unit price entered is \$2.26 per Pound of Iron. The corresponding price per Wet Pound is \$0.30	<b>First Offer - \$2.26</b>	100000 / pound	<b>\$226,000.00</b>	<b>Y</b>	<b>Y</b>
---------------------	--	---	-----------------------------	----------------	---------------------	----------	----------

---

OPN2128651B1--01-06	Year 3, Ferric Chloride Delivery, District 2	<b>Supplier Product Code:</b>  <b>Supplier Notes:</b> The unit price entered is \$2.26 per Pound of Iron. The corresponding price per Wet Pound is \$0.30	<b>First Offer - \$2.26</b>	45000 / pound	<b>\$101,700.00</b>	<b>Y</b>	<b>Y</b>
---------------------	--	---	-----------------------------	---------------	---------------------	----------	----------

---

OPN2128651B1--01-07	Year 4, Ferric Chloride Delivery, District 1	<b>Supplier Product Code:</b>  <b>Supplier Notes:</b> The unit price entered is per \$2.33 Pound of Iron. The corresponding price per Wet Pound is \$0.31	<b>First Offer - \$2.33</b>	100000 / pound	<b>\$233,000.00</b>	<b>Y</b>	<b>Y</b>
---------------------	--	---	-----------------------------	----------------	---------------------	----------	----------

---

OPN2128651B1--01-08	Year 4, Ferric Chloride Delivery, District 2	<b>Supplier Product Code:</b>	<b>First Offer - \$2.33</b>	45000 / pound	<b>\$104,850.00</b>	<b>Y</b>	<b>Y</b>
		<b>Supplier Notes:</b>					
		The unit price entered is per \$2.33 Pound of Iron. The corresponding price per Wet Pound is \$0.31					

---

OPN2128651B1--01-09	Year 5, Ferric Chloride Delivery, District 1	<b>Supplier Product Code:</b>	<b>First Offer - \$2.40</b>	100000 / pound	<b>\$240,000.00</b>	<b>Y</b>	<b>Y</b>
		<b>Supplier Notes:</b>					
		The unit price entered is \$2.40 per Pound of Iron. The corresponding price per Wet Pound is \$0.32					

---

OPN2128651B1--01-10	Year 5, Ferric Chloride Delivery, District 2	<b>Supplier Product Code:</b>  <b>Supplier Notes:</b> The unit price entered is \$2.40 per Pound of Iron. The corresponding price per Wet Pound is \$0.32	<b>First Offer - \$2.40</b>	45000 / pound	<b>\$108,000.00</b>	<b>Y</b>	<b>Y</b>
---------------------	--	---	-----------------------------	---------------	---------------------	----------	----------

---

Supplier Total **\$1,642,850.00**

## No Bids

Brenntag Mid-South Inc Brenntag Mid-South appreciates the effort Broward County put into preparing this proposal. However, we have decided to NO BID. I regret that we're unable to go forward with the bid but ask that you keep us on the list for future opportunities.

Pencco, Inc. We are unable to supply a bid at this time .